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Initiator has sent all of the data frames,
E_D_TOV timer is started for this sequence.

The target does not get all the frames, 50 it doesn't send an ACK
Initiator's timer expires and ACK not received
Sequence has failed
Initiator sends ABTS to make sure that this sequence is aborted.
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Application performs

: User Space
UserSpace || acnien.  po===========: 1/0 on SCSI devices
AWITMH (dd, cclor efc)
File Systeam  fp-===========1 NTFS, EXT4, XFS
110 Converted into A
SCSILayer  preeeeeseeseaq f o SEUREEEN TN becccescaeneay Abort and Reset are used to handle
SCSI commands error situations o cases where the
SCSI layer thinks a command has
il il gone missing. The SCSI layer will
Kemnel first attempt to abort the command
FCI/FCoE frame then if needed Iry to reset the entire
LibFCl/Libfcog  p--==========3 created ontop of r-----==--===-1 controller
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VMwWare vmkernel 1og:

2017-07-27T714:54:10.590Z cpu6:33351)<7>fnic : 2 :: Abort Cmd called FCID 0x50a00, LUN Oxa TAG c8
flags 3

0| 0|0l A 2017-07-27T14:54:10 UTC Al EAE OS 0xc82 A2 3t= LUN 0xa2l FCID 0x50a0001|
CHSH vmhba20o{ A SEHO| S E L& LICE
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/tmp # ./fnic-tracetool -1i
HBA Device

vmhbal fnicl
vmhba2 fnic2

22| QIEFHHET} AE-SAE DEOM A™ElE 3 LAHRE MEE| AQ[X|Q| fens O]
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switch-A(nxos)# show fcns database fcid 0x50c00 detail vsan 1 ---—-——-—----—-—————————— VSAN: 1
FCID:0x50c00 ---===-===——=-——————————— port-wwn (vendor) :50:00:00:00:£ff:£ff:££:01 (EMC) node-wwn
:50:00:00:00:ff:£f£:££f:00 class :3 node-ip-addr :0.0.0.0 ipa :ff ff ff ff ff ff ff ff fcd-
types:fcd4_features :scsi-fcp:both 253 symbolic-port-name :SYMMETRIX: :SAF-
3fB::FC::5876_272+::EMUL B80F0000 41234F44 94F360 07.27.15 11:14 symbolic-node-name

: SYMMETRIX: :FC::5876_272+ port-type :N port-ip-addr :0.0.0.0 fabric-port-wwn
:20:1e:00:2a:6a:ea:00:00 hard-addr :0x000000 permanent-port-wwn (vendor)
:50:00:00:00:ff:£f£f:£f£:01 (EMC) connected interface :£fcl1/30

VIC O{H{E{ 21

170727-14:54:10.590661 ecom.ecom_main ecom(4:0): abort called for exch abort called for exch
431b, status 3 rx_id 0Os_stat 0xOxmit_recvd 0xOburst_offset 0x0sgl_err 0x0 last_param 0x0
last_seqg cnt 0x0Otot_bytes_exp 0xal00h_seqg cnt Ox0Oexch_ type 0Oxls_id 0x36010£f4_id 0x50c00 host_tag
0xc8

. s_stat Ox0 => = 4&IE Z 2| 2lo| gi&LCt.

. exch_type 0x1 => Exchange7} @118 A (ingress)O|H &4 ArEflL|Ct.
. ‘*'°°F & HIO|E & => tot_bytes_exp 0xa00 /L |C}.

. =41 =>0x0

. burst_offsetOI MHEE =>0x0



. 0] @0 Cciet ZAE scsi A10/012] 10 Ef2 = => Oxc8 I LILC}.
. A4 D => 0x36010f
. CH& CH4 ID => 0x50c00
. A|BA ID => 0x0
.rx_id=>0
AFER

. &E 3 = write H&
. AEN1 = 27| TR

Exchange & (exch_type):

EXCH_NOT_IN_USE =0,
EXCH_INITIATOR_INGRESS_ACTIVE =1
EXCH_TARGET_INGRESS_ACTIVE =2
EXCH_EGRESS_ACTIVE =3
EXCH_ABORTED =4

EXCH_DEBUG =5

0x00 Z B 0| =AE|X| XF

0x01 5tLt Ol &t o| Z 2| recvd

0x02 A|ZHAT} ot =] g AEfILICE.
0x04 A|BHAT} 2R E[RELICEH

0x08 ™& AlEA =T[5t

0x20rsp - 2 SAE &S0| M&E

0x40 exch CllO|E{ A A ER &

SE HAIX|2I FCPIO E x| HIAIX|S| xtO|H 2 FUYLITH?

FCPIO 2%l 2E o4 O|O[E{7} = AE[X| ot S M Ye = JU&LICH
Total bytes xmit < expecte ddata length

160621-04:26:51.733255 ecom.ecom_main ecom(8:3): ox_id 41d4 rx_id 44b seq cnt 7 seqg id 1 160621-
04:26:52.066235 ecom.ecom_main ecom(8:1): fcpio_data_cnt_mismatch for exch 4202 status 1
rx_1id5f7 s_stat 0x3 xmit_recvd 0x3000 burst_offset 0x3000 sgl_err 0x0 last_param 0x2800

last_seqg cnt 0x0 tot_bytes_exp 0x8000 h_seqg cnt 0x5 exch_type 0x0 s_id 0xab800 d_id 0xab800
host_tag 0x377
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